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31. Which resonance structure contributes the most to the overall bonding in
nitrous oxide, N,O?
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32. Each of the following forms a colored aqueous solution EXCEPT
(A) Cr(NO3);  (B) Co(NOs3);  (C) Cu(NO3); (D) Zn(NOs3),

33. Which aqueous solution exhibits the largest freezing point depression?
(A) 1.0 m XBr (B) 0.75 m C¢H;,04
(C) 0.5 m MgCl, (D) 0.25 m BaSQy4

34. A 37.5 g piece of gold at 83.0 °C is added to 100. g H,O at 22.0°Cin a
well-insulated cup. What is the equilibrium temperature? (The specific heat
capacity for Au = 0.129 J/g°C, H,O = 4.184 J/g°C)

(A)20.5°C (B)22.7°C (C)253°C (D)27.2°C

35. What one of the following is an inorganic compound?
(A) methane  (B) acetone  (C) acetic acid (D) sulfuric acid

36. Which of the following atomic symbols is incorrect?

@Y% ® M © 5l O LK

37. Which element does not belong to the family or classification indicated?
(A) As, lanthanides (B) Br, halogen
(C) Na, alkali metal (D) Ru, transition metal

38. The volume of a balloon is 3.02 L. at 22.7 °C. The balloon is heated to 43.6 °C.
Calculate the new volume of the balloon.

(A)157L (B)2.82L (C)3.02L (D)3.23L

39. In the gaseous phase, which of the following diatomic molecules would be the
most polar?

(A)LiCl (B)NaF (C)CsF (D) CsCl

40. Which of the following has the largest radius?
(A)S?>~ (B)CI™ (CO)Ar (D)K*




